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1.  

1.1.  S = 
L × l

2  

  S = 
1140 × 1200
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1.2.  V = �× r2 × h 

 V = �× 102 × 1 400 
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2.  
2.1.  9 × 20 + 8 × e = 1 1400 
  8 × e = 1140 – 180 
  8 × e = 960 
  e = 960 : 8 
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2.2.   

Volume en dm3 0.5 1,2 1,8 
Masse en kg 3,9 ����� ���

 
 
3.  

3.1.  Le prix de 14 kg sera  5 × 14 = ���¼ 
�
 

3.2.   
Prix unitaire du kg     5,00 ¼ 
Prix de 14kg ��������¼�
Montant de la T.V.A. ������¼�
  
Prix T.T.C. ������¼�

 
 
 

4.  
4.1.  C’est la propriété de 3\WKDJRUH. 
4.2.  ' � � �/ � ���K �

. 
4.3.  D2 = 11402 + 14002 
  ' � � �����������
4.4.  D = 3259600 
� � '�|������PP��
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